WAV KU=D3T

IUNE  BHipsiemBn [(Bi)

E%iﬁgi g% 28%%%135(1) IBRLRETSE © R I

Hg%gfé %Eéfﬁo it 40 9:7:40%%”5‘&: 1HERE ?%ﬁ 22 A
SE T I
Bt 39 A

I&fiz EIIE=ES] Bk | 260 GROSS|HDCP| NET firs

B\ =B F] 38|40 78 |[130 650

2 |Niw % 38 | 41 79 |100 [69.0

3 |BBE =— 48 | 51 99 (300 |690

4 |TTA BB 44 1 40 84 140|700

S5 BH W 38|42 80 {100 | 700

O |fEIE =W 39| 36 75 |50 |00

7L BE 42 140 82 (110|710

8 |BlE &fc 40|40 80 |80 |20

9 Bl ®F 46 | 43 89 (170|720

10 |]BB X 47| 44 91 (190|720

11 [k 8B 43| 46 89 (170|720

12 |RE 4% 44 1 49 O3 (200|730

13 g =17 43 | 46 89 (160|730

14 |1"E  3A 41 |48 89 150|740

15 itH &7 50 | 44 94 (200|740

16 | B8 = 45| 46 91 (150|760

17 | &=t 41 | 41 82 |60 | 760

18 7K & 48|45 O3 (170|760

19 |INII 1BX 42 | 43 85 80 |7r0O

20 &% B&F 42 | 43 85 |70 |r80

21 |8 = 48|49 Q7 (180|790

22 B0 1E= 49|45 94 (150|790

23 |l =3 57|46 103(23.0 |80.0

24 |8 LbEX 47|43 90 (100|800

25 |5l TS 47145 92 (120|800

1/4R=2




WAV KU=D3T

JUNE.  FEiexsam (i)

BEEAD : ¥k 288388138 (1)

fPAI—2: B =6 IBRERTETTSES © R HIE

BRI . BEHT BlEhs : 14£E88 SHAK

HDCPLEBR : Sl 1 40 @it : 40 Y =77 : 40 C S 22 A
I 4 A
iy 13 A
st 39 A

lEfz SNES Bk | 26m GROSS|HDCP| NET i

26 (B BT 53145 98 [18.0 |80.0

27 |WE ZE2 45| 51 96 [150 (810

28 (ERAKN = 48| 43 91 [100 (81.0

29 |BR IHTF 51149 100(18.0 [82.0

30 |nEE A\ 490 | 47 96 (140 |820

31 £ R 50|52 1021(200 [82.0

32 |LUAX EFAR 44 | 52 96 (130 830

33 |kH —== 50 | 54 104|200 [84.0

34 |8 RBZ 54 | 55 109230 [86.0

35 | KTk &B& 54|50 104|180 [86.0

36 | KR # 49|50 99 (120|870

37 |Jllgs 1583 49| 55 104|170 |87.0

38 | B FH— 60 | 49 109200 [89.0

39 |At+=E Z|3 56| 64 120(15.0 [1050

NR |/ e O |180 |-180

KR =) 2 O [110[-110

n-rxe | ERIR 518 47 | 41 88 [13.0 750

n-pre (AR JEK 41 |47 88 [100 | 780

n-rve | TR FEE 50|47 97 (220|750

n-rre | FREF  NEE 51148 99 (180 [81.0

n-rwe | K E FEHE 48 | b2 100230 |770

n-r32 | BR BX 54 | 49 103(180 [85.0

n-rxe | fEE B 52|54 106|200 [86.0

2/ 4 R=Y




WAV KU=D3T

IUNE  EHimscmBM [FEh)

E%iﬁgi g% 28?%;‘%%135(1) IBRLRETSE © R I

Hg%gfé %Eéfﬁo it 40 9:7:40%%”5‘&: 1HERE ?%ﬁ 30 A
SE S W\
Bt 39 A

[=fiwi SNES ZE0 | E GROSS|HDCP| NET fiis

B TR =0 47| 46 O3 [300 |630

2 |38 = 39 | 41 80 |120 |68.0

3 |2l =B 41 | 44 85 [150 700

4 |Xt) s 35|38 73 |30 |00

S5 | KT &==RB o0 | 47 Q7 260|710

6 2R = 42 1 50 92 (200|720

7 =W I 42 | 43 85 (120|730

8 |Zl & 43 | 41 84 110|730

O |H =E— 45145 90 (160|740

10 |'BZ #83 39 | 41 80 |50 |50

11 |6H B 41 147 88 (130|750

12 |18 =X 40| 50 90 (140|760

13 |EB Hi 46 | 46 92 (160|760

14 |BP HB— 40| 39 79 |30 |60

15 |&e8 BE 52149 101250 | 760

16 |RIE =R 36 |45 81140 |70

17 |28 ®BE 40|42 82 50 |7r0O

18 |84 = 90 | 46 96 (190|770

19|5 5 42 | 44 86 |80 | 780

20 %K Fhig 45|42 87 90 |80

21 |BK E¥ 43|47 90 (120|780

22 |8t 0B 49| 49 98 (190|790

23 |}k &%t 48 |47 95 (150|800

24 |28 F0fF 47| 51 98 (180|800

25 |8l = 48 | 44 92 (120|800

3/4R=Y




WAV KU=D3T

D A =N Er =k €D

BEEAD : ¥ 28588138 (1)

fFAI—2: =5 W@ IBRERTETTSES © R HIE

BRISE . BEHN BlEhs : 14£E88 SHAK

HDCPLIR : B : 40 &Mt : 40 Y =7 : 40 C S 30 A
I 1 A
P 8 A
st 39 A

[[=fiwa IR R | e GROSS|HDCP| NET i

26 |8 H=— 50149 99 (180 (81.0

27 WA K— 431|145 88 |70 |81.0

28 |9 Erg 451144 89 | 70 |820

29 "B = 46 | 50 96 [14.0 |82.0

30 X% B’ 42 | 51 93 [11.0 820

31 |WO F7T 51|54 105|220 [83.0

32 |18K & 50149 99 (150 (840

33 |’k& =3 48 | 47 95 [100 [85.0

34 |iEE F05A 44 | 63 1071210 |86.0

35 |1T&R 1EE 47 | 51 98 [10.0 [88.0

36 |E#®E IE 50|63 1131]24.0 [89.0

37 |FlE B 54|55 109|200 [89.0

38 |LWEB FE 58|52 110|190 [910

39 |EFF FES5A 57|52 109(17.0 920

NR [& B O |[110|-110

n-exe | TR F5RY 44| 44 88 120|760

n-r7e | BB H g 42 | 46 88 |70 |81.0

n-rre KO 2B 44145 89 120|770

n-kre | BP N8 43 | 46 89 [16.0 | 730

n—rxe | NE  [EZBA 51 | 50 101 (180 [83.0

n-rve | fEL BRK 47 | 56 103(19.0 [84.0

nrre| KL 1E2 57147 104100 [94.0

n-rre (I8 ZW 53|55 108(21.0 |87.0

4/4R=2




